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PART - A
Antonyms

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words or groups of words. Select the option that is opposite in meaning to the underlined word and mark
your response on the Answer Sheet accordingly.

1.  Mohan was living in a deplorable condition.
(a) reprehensible
(b) opprobrious
(c) despicable

(d) commendable

2.  These exercises will counteract the effects of stress and tension.
(a) exacerbate
(b) foil
(¢) thwart

(d) contravene

3.  You have to persevere with difficult students.

(a) give up
(b) persist
(¢) carryon

(d) stand firm

4.  Their new colour scheme is hideous.
(a) appalling
(b) beautiful
(¢) grotesque

(d) macabre

5 Everywhere they go, they squander their earnings.
(a) fritter away

(b) splurge
(c) squabble
(d) manage
RRAN-A-GAT (2-A)
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Cloze

Directions : In this section, there is a passage having some blank spaces, each blank space is followed
by four individual words or group of words. Select a word or group of words you consider the most
appropriate for filling the blank space, and indicate your response on the Answer Sheet accordingly.

The Earth’s climate is 6.(a) passionately changing and evolving. Some of
(b) continually
(¢) deadly

(d) thoughtfully

7. (a) these changes have been due to natural causes but others can be

(b) those
(c) this
(d) that
attributed to 8. (a) practical activities such as deforestation,
(b) geological
(¢) human
(d) animal
emissions from industry and transport, etc., which have led to the : 9. (a) assimilation
(b) absolution
(¢) collection
(d) accumulation
of gases and aerosols in 10. (a) an atmosphere. These gases are known
(b) a
(c) the
(d) no article
as greenhouse gases because they trap heat and 11. (a) raise air temperatures
(b) hike
(¢) rise
(d) balance
near the ground, acting like a greenhouse on the surface of the 12.(a) crust. Inorder
(b) core
(c) mantle
(d) planet
to create and strengthen the scientific and analytical capacity 13. (a) for assessment
(b) of
(e¢) in
(d) to

of climate change in the country, different studies under Climate Change Action Programme

14. (a) are developed. Many important bilateral and multilateral
(b) are initiated
(¢) have developed
(d) have initiated

meetings and negotiations are held 15. (a) with regular intervals
(b) at
() in
(d) on

RRAN-A-GAT (3-A)
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Sentence Completion

Directions : Each of the following items features one part of a sentence, followed by four alternatives.
Complete the sentence by choosing the correct alternative and mark your response on the Answer Sheet
accordingly. '

16. He paused 21. TI'll see you

(a) with a few moments. (a) at the end of February.
(b): - for a few.moments (b)  on the end of February.
(c) along the end of February.

(¢) by afew moments.
(d) for the end of February.

(d) into a few moments.

22. 1 dislike films

17.  Late at night, our car (a) who have sad endings.

(a)  broke down on the highway. (b) that have sad endings.
(b)  broke up on the highway. (¢)  whose have sad endings.
(c)  broke into the highway. (d) whom have sad endings.

(d) broke out on the highway.
23. The thieves denied

18. All the countries signed the treaty (&) having stealing the money.

(b)  stealing the money.

(2) -, henesth Gersiiny and Fisi. (¢)  had stolen the money.

(b)  except Germany and France. (d) having to steal the money.
(¢) among Germany and France.
(d) during Germany and France. 24. Did you
(a) drop out to see Sunita on your way
19. Ireminded her home ?
(a) to turn off the lights at night. (b) g:::e ;n to see Sunita on your way
® St el st uight. (¢) drop behind to see Sunita on your way
(c)  to drop off the lights at night. home ?
(d) to break off the lights at night. (d) drop away to see Sunita on your way
home ?

20. They told us about the woman
25. Would you like to

(a) meeting her ?
(b) meet her?

(a) whom lived next door.
(b) which lived next door.

(¢)  who lived next door. (¢) met her?
(d) whose lived next door. (d) meet with her ?
RRAN-A-GAT (4-A)
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Idioms and Phrases

Directions : Given below are some idioms/phrases followed by four alternative meanings to each. Select
the most appropriate response from the options (a), (b), (c) or (d), and mark your response on the Answer

Sheet accordingly.

26. Be bad news
(a) feelings of hate
(b) someone who behaves in a dishonest way

(c) someone who is considered undesirable
(d) tobeill

27. Back to the drawing board
(a) todraw comparisons
(b)  to be a member of planning group
(c) to start planning again because the previous plan has failed

(d) to be fast at understanding a situation

28. Be in the eye of the storm
(a) tolook at something quickly
(b) to fail miserably at a sport
(c) to see something that you do not want to see

(d) to be in the midst of a controversy

29. Life in the fast lane
(a) tolead a selfless life
(b) to have a happy life without complaints
(¢c) life without money or comforts

(d) an exciting and eventful lifestyle

30. To pass the buck
(a) to collect money from a group of people
(b)  to shift the responsibility of something to someone
(¢c) to have a short conversation with someone

(d) to have the credentials for a particular job

RRAN-A-GAT (5-A)
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Ordering of Words in a Sentence

Directions : Each of the following items in this section consists of a sentence, the parts of which have been
Jumbled as P, Q, R and S. Rearrange the jumbled parts of the sentences into sequence and select the correct
sequence as (a), (b), (c), and (d) given below and mark your response on the Answer Sheet accordingly.

31. include basic freedoms the fundamental rights are guaranteed to the individual basic rights and

' 4 Q R S

(a) QSPR (b) QRSP (c) SQRP (d) RQSP

32. for many millennia been in the making of a historical process that has

P Q R
the Indian nation is the product
S
(a) SRQP (b) SQPR (c) PRSQ (d) RSQP

33. anepoch that was imbued for its people the start of with a new vision

P Q R
India’s Independence represented
S
(a) SQPR (b) QRPS (c) SPQR (d) RQSP

34. science and mathematics exhibition for a discussion on the forthcoming

P Q
to be present before the Principal all students have been instructed
R S
(a) SQPR (b) RPQS (c) SRQP (d) QPRS

35. two bowlers and two batsmen respectively to the new team  with the selection of another player

P Q R
the team now has
S
(a) QPRS (b) SQRP (c) RQSP (d) RPSQ
RRAN-A-GAT (6-A)
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Word Classes

Directions : Each of the following sentences has an underlined word. Read the sentence carefully and find
which word class the underlined word belongs to. Indicate your response on the Answer Sheet accordingly.

36. You are most welcome to visit my humble abode.

(a) Noun
(b) Adjective
(¢) Adverb

(d) Participle

37. The situation is beyond our control.
(a) Adjective
(b) Adverb
(¢) Conjunction
(d) Preposition

38. Ididn’t tell him anything except that I needed the money.
(a) Adjective b 13
(b) Adverb
(c) Preposition

(d) Conjunction

89. He dry-cleaned my coat nicely.
(a) Adjective
(b) Adverb
(c)  Relative pronoun

(d) Conjunction

40. Would you like to buy this new item ?
(a) Determiner
(b) Conjunction
(c) Interjection
(d) Adjective

RRAN-A-GAT (7-A)
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Passage

Directions Read the following passage carefully
and answer the items based on it. You are required
to select your answers based solely on the contents of
the passage and the opinion of the author.

The grouping or assemblage of plants, animals and
microbes we observe when we study a natural
forest, a grassland, a pond, a coral reef or some
other undisturbed area, is referred to as the area’s
biota or biotic community. The plant portion of the
biotic community includes all vegetation, from large
trees down through to microscopic algae. Likewise,
the animal portion includes everything from large
mammals, birds, reptiles and amphibians through
to earthworms, tiny insects and mites. Microbes
encompass a large array of microscopic bacteria,
fungi and protozoans. Thus, the biotic community
comprises a plant community, an animal
community and a microbial community.

The particular kind of biotic community found in a
given area is, in large part, determined by abiotic
factors such as the amount of water or moisture
present, the temperature, the salinity, or the type of
soil in the area. These abiotic factors both support
and limit the particular community. For example, a
relative lack of available moisture prevents the
growth of most species of plants, but supports
certain species, such as cacti; these kinds of areas
are deserts. Land with plenty of available moisture
and a suitable temperature supports forests. The
presence of water is the major factor that sustains
aquatic communities.

The first step in investigating a biotic community
may be simply to catalogue all the species present.
Species are the different kinds of plants, animals
and microbes in the community. A given species
includes all those individuals which have a strong
similarity in appearance to one another and which
are distinct in appearance from other such groups.
Each species in a biotic community is represented
by a certain population — that is, by a certain
number of individuals that make up the
interbreeding, reproducing group.

RRAN-A-GAT

41.

42,

(8-A)

Which one of the following does not belong to
the biotic community ?

(a) Water
(b) Human
(c) Protozoa
(d) Bush

The nature of the biotic community largely
depends on :

1. Biotic components
2. Abiotic components

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

Which of the following is nof an abiotic
factor ?

(a) Temperature
(b) Humidity

(c) Algae

(d) Moisture

In the passage, the word ‘aquatic community’
refers to :

(a)
(b)
(c) Biotic community found in the air
(d)

Biotic community inhabiting the land
Biotic community found in water

Assemblage of rain and moisture

Species are defined on the basis of :

(a) Similarities only

(b) Differences only
(c) Both similarities and differences
(d) None of the above

Downloaded from www.cclchapter.com



Synonyms

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words/group of words. Select the option that is nearest in meaning to the underlined word and mark your
response on the Answer Sheet accordingly.

46. The king’s son was banished due to the political rivalry.
(a) deported
(b) called back

(¢) accepted
(d) notified

47. He gave a dazzling performance at the opera.

(a) brilliant
(b) dismal
(c) pathetic
(d) puerile

48. She rebuffed all suggestions from her friends.
(a) took
(b) rejected
(¢c) criticized

(d) granted

49. He disowned his royal legacy and became a commoner.

(a) accepted
(b) abandoned
(c) allowed

(d) questioned

50. The public was sceptical about the new government policy.
(a) hopeful
(b) anxious
(¢)  doubtful
(d) expectant

RRAN-A-GAT (9-A)
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51. = wfalushi #1 uF aa ddeq o man g, | 53, Al fawe uw & wem areft fedt dga wvfie &
T s afas H affa R=4 0% 1 A JaTfEd &9 aTeft 9/ 15 A 8 31 wefig 10 fime
3R B fagatt % e e fedy @ R 2 (79 Ffoueaadi g, dsmom & A aefia § &

gfeliy &1 99 THEAH, R=48) yarfgd &9 arer Aa fhan 8 2
R R
Ao—AMAA AMAA
(@ 150C
R R
Bo A A (b) 150C
(@) 0Q (© 900C
® 2+2/5Q
d) 9000 C
© 2+J50Q )
d) «Q

52. IS UF foga hwa e m R 1V, = 1V I | 5y ofeq wrerw w1 i R e % forg feeht S
Sfatd R = 1000 QR | uiq B H watew R fefafEa § &

°A AR 2
-V §R

0B
yfedig R & & S vaTied 219 arelt 971 1 mA 8
% Hd e ? 3R fag A 3t B & am-uR
Ficedl, Vyp = 1 V 2 | 3@ gy &t femgem
fafia fean a2 -

J_ oA (b)
-V, .|. V, éﬂ
°B

&I V, &I WM =5 V& | gF1 92t &1 e
yfeig 0.1  ® | fady R 6 & g yaifaa aF ()
et Ry ey fRadt 2 2

(a) 1-0mA

(b) 12mA
() 3-0mA (d)
(d) 50mA

RRAN-A-GAT (10-A)
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PART -B

51. An infinite combination of resistors, each | 53,
having resistance R = 4 Q, is given below.
What is the net resistance between the points
A and B ? (Each resistance is of equal value,
R=4)

R R

Ao—AWA MW

R R

Bo ANVWA
(a 0Q
b) 2+2/560Q
) 2+J5Q
d =Q

52. An electric circuit is given below. V; =1V and A
Resistance R = 1000 Q. i
| .

A
°B
The current through the resistance R is very
close to 1 mA and the voltage across point A
and B, V g =1 V. Now the circuit is changed
to:
I
ey .|. Vy 1B
°B
where value of V, = 5V. The internal
resistances of both the batteries are 0-1 Q.
The current through the resistance R is
about :
(a) 1:0mA
(b) 1-2mA
(c) 30mA
(d 50mA
RRAN-A-GAT (11-A)

If the current through an electrical machine
running on direct current is 15 A and the
machine runs for 10 minutes, the charge that
passes through the machine during this time
18 :

(a) 150C
(b) 150C
(c0 900C
(d) 9000C

Which one of the following is the best shape of
a solid metal rod to form the top end of
a lightning conductor ?

(a)

(b)

(c)

(d)
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55. Trafafea & @ F9-@/#9-8 9a, v § g@

56.

57.
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9 8/2 ?

1. TR

2. Toga-gadm s=

3. Yaa 3R gEa A Fa

Hr= fou e He F wET = A I g
(a) had 1

(b) haer 130 2

(¢) ad 23 3

d 1,233

R s = 3k Re Iafs s &
gaHR Id ¥ R2 B @ s 3| e
safae 2 (fam ed) | 3 et it amft
Hed p 31 I f grwft B e p2 B 1 3@
THR S FEA Mo H1 3Ed GeINE T F:
22

(a) 3p/4
(b) 9p/16
(c) 7p/8
(d) 5p/8

WHE 9 U UH % auE B e o

a) for wea g R for gns s
(379 |1EA) F R |

(b) uftadi wiw gt R fOr grRe smm
(ST9=R |1EA) F 2 |

¢ for wa gt it ofadi gre s
(ST T13H) & ¥ |

(@ uftedi wia gt 3t gRadi gre
(o< |TEH) F F |

58. WNd % QYW % IqwSE 371% » 7dH,

59.

(12-A)

frafafigs & @ frg fawa/fe fawal & geu d

YR T8 & AfUfEm Jrmels 59 W a9 a6

any 77 B, 9@ a% Armeie Y faum @

Tepey g Y fafivey 78 sl & 2

1. mmeRt it aififes an qmfees gamd

2. amm wfge= faftr i ufsen

3. Wi 3l 3wk Fufd @i 1 W 3N
AT

4, TS 1 F= TG Gy Hiad

= faw T e 1w W= I IR

(a) had 1

(b) e 23R 3

(c) ad 1,23 3

@ 1,2, 334

G % AEA9E & JJe8g 191 & JHH, HI5
= fordt T it faum @ an faum oftsg
F ¥R g1 9H ¥ g 3l weem # % fo
frféa gm afg a7 =fe .

1. HRd SRR & 3T I3 AT 1 9 gR0
T R |

2. Tt oo wR % ol H1E T w1 g
YROT AT R |

Hr= fqu U e w1 FE W T IR gAY

(a) Had 1

(b) Had 2

(¢ 13 23Mt

@ T 1,7¢2
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55. Which of the following forces is/are | 58,
fundamental in nature ?
1 b Gravitational force
2.  Electromagnetic forces
3.  Strong and weak nuclear forces
Select the correct answer using the code given
below :
(a) 1lonly
(b) 1and2only
(¢) 2and 3 only
(d 1,2and3
56. A spherical shell of outer radius R and inner
radius R/2 contains a solid sphere of radius
R/2 (see figure). The density of the material of
the solid sphere is p and that of the shell is
p/2. What is the average mass density of the
larger sphere thus formed ?
59.
(a) 3p/4
(b) 9p/16
() Tp/8
(d) 5p/8
57. The human eye is like a camera that has a
lens with :
(a) fixed focal length and fixed aperture
s1Ze.
(b)  variable focal length and fixed aperture
size.
(c) fixed focal length and variable aperture
size.
(d) variable focal length and variable
aperture size.
RRAN-A-GAT (13-A)

Under Article 371A of the Constitution of
India, with respect to which of the following
item(s) the Acts of the Parliament of India
shall not apply to the State of Nagaland,
unless the Legislative Assembly of the State
of Nagaland by a resolution so decides ?

1.  Religious or social practices of Nagas
2.  Naga customary law and procedure

3. Ownership and transfer of land and its
resources

4. Boundaries of Nagaland with other
states

Select the answer using the code given below :

(a) 1only

(b) 2 and 3 only
(¢) 1,2 and 3 only
(d 1,2,3and4

Under Article 191 of the Constitution of India,
a person shall be disqualified for being
chosen as, and for being, a member of the
Legislative Assembly or Legislative Council of
a state if the person holds any office of profit
under :

¥ the Government of India.

2. any State Government.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(c) Both1land2
(d) Neither 1 nor 2
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60. Frafifigs Tgw Ty wmoned/yEfagrsti W

61.

62,
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fomm Hifs -

1.  HHaTuesr 6 gredm on

2. ufgenedt & ufd ¥ewm & aft w0 F
IEH W AEHT (FHavH)

3. e, mmifoes iR wicpfas iRl

4. yontd @ e (SEeE)

frafafga # @ ®F-w 3w &1 wdt Free

(anfe & 3Ty H qU) B 2

() iledi3.2

b) 1,234

(e).+1.3. 2.4

@ 4,1,2,3

e ueadid A ¥ qEdl %k Hew H

frafafga & @ F9-m Fom adt 787 2 2

(a) STURYA 3R Wit e Fa F faww

(b) Seq T H F@gH & foU T IW A
e

(c) IUNMTHI g BFeX &l faear

d) VIR % Faal H1 fFEan

W § o Bt wared $an qd & weh g

% Jgva & ") ¥ frafafgs sud w fEr

EE e

1. 39 ot = fqem ggreaye 6ttt
¥ g A |

2. WY@ TR AEFTEE 7R W e o
T A e aifvfus, wiepfas 3R
Toifes Tifafafiri & o2 Fg 3 |

3o # & fora/fras o wdl B/2 2

(a) 1

(b) 2

{c) -8
(d) g T

63. WA wrdla freme@l & ) # f=fafaa

64.

65.

(14-A)

HyAl W faem Hifse .

1. wrifyes fremcre @ehd & € |

2. ufvaw & fremeEl #§ wgw @it fafy
H I &I W WEA FA d@ fEg-gAA
T & et 6 g™ 4 ger ™ |

3. ftepiy fee@l & weu, 3= weAreH
# IPgE@ 7, MW IW HY ggfadr &
IgE TE R |

39w # | feraan/fraa s wdt 2/ 2

(@ 1

b) 2

() 3

@ IS T

a0 (S 3 gwenfas w9 1B ot !B #
frmm B R) =1 mifes W gemH
(wefa) 10-81 # | sowr: 1B 3kt B i sgeran
w1 gft (100 TES % UH T W faER
Hifs) 2

(a) 19% 3R 81%

(b) 81% 3R 19%

(c) 38% 3N 62%

(d) 62% 3 38%

freffan § @ 9.8, dode @i F wfar
UH B ?

(a) ilTﬁ,ﬂHT,ﬁlﬂ

) Taferm, dgfemn, g

(c) Taferm, g, demge gui (T8R)

@ e, ahH, g '
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60. Consider the following | g3.

UN Declarations/Covenants :

1.  Universal Declaration of Human Rights

2.  Convention on the Elimination of All
Forms of Discrimination Against
Women

3. International Covenant of Economic,
Social and Cultural Rights

4. Convention on Refugees

Which one of the following is the correct

chronological order (starting with the earliest)

of the above ?

{a). . 1.4.3,2

thyy 1,2,3,4

fey - :1,8,2,4

(d 4,1,2,3

61. Which one of the following statements
regarding the objectives of the Second

Five-Year Plan is not correct ?

(a) Development of the basic and heavy
industry sector

(b) Increase in national income to raise
living standards 64

(¢) Expansion of the consumer goods sector :

(d) Expansion of employment opportunities

62. Consider the following statements about the
emergence of urban centres in India from
circa 6t Century BCE :

1. All of them developed away from the
capitals of mahajanpadas.

2. Major towns were located along routes
of communication.

3. Many were bustling centres of
commercial, cultural and political
activity.

How many of the above statements is/are o

correct ?

£ TR |

(b) 2

{e). 8

(d) None

RRAN-A-GAT (15-A)

Consider the following statements about

ancient Indian inscriptions :
1. The earliest inscriptions are in Sanskrit.

2. Kharosthi script, used in inscriptions in
the north-west, was deciphered with the
help of coins of Indo-Greek kings who
ruled over the area.

3. Most of the inscriptions mention grand,
unique events, and routine agricultural
practices do not find mention.

How many of the above statements is/are

correct ?
{8, &

(b) 2

(¢) 8

(d) None

The relative atomic mass of boron (which
exists in two isotopic forms 1°B and !!B) is
10-81. What will be the abundance of 1°B and
B respectively (consider a sample of 100
atoms) ?

(a) 19% and 81%
(b) 81% and 19%
(c) 38% and 62%
(d) 62% and 38%

Which among the following are essential
constituents of Portland cement ?

(a)
(b)
(¢c) Silica, lime, graphite powder
(d)

Sand, lime, clay

Silica, alumina, lime

Sand, graphene, clay
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66. foremw uw guifua sroi-wme gus B, 9% | 69.
fore® =gca BT 2 2
(a) *<hdh
(b) wATEHA
(c) Gﬁ'ﬂTﬂ
d &us
67. V,0, % Ffeam i srfefieror srawen 71 R 2
(a) +2
(b) +4
(¢ +3
(d) +5
68. W1 & -1 & Ffera hifsw i gl & | 70.
= fou U Fe w1 T W wE IW g
-1 -1l
(FTE7T FT (orer)
HREY)
A %R 1. WEHdH 3R YSadq
e
B. @ 2. HORaW Whfas qgrd
C. oA 3. A Bodl A’R Yo
e
D. N 4. g IR fresa (fead®)
e
%e:
At B30l P
(a4 2 3 1
N TERT R SRR (AR
LR R AR ek
W Peg 4
RRAN-A-GAT (16-A)

sawedia fafyr war @ wefte frafafea st
T fomm $HifSu .

1. I8 SN 180° ITHARK B, S FTAIeH
TEErR ¥ R qdm § @ W ¥ fau
grgr-ar gd R uf;em it I famem

H R |

2. 3 @ % g fam H ffy ofeem &
o # (24 9) UES R |

I 4 ¥ HH-A1/HH-3 HY4 T 2/8 2
(a) ad 1

(b) Had 2

(© 13 22

@ A 1,TE2

‘g W b den & Feffe § @
HH-A1/PH-T FHUT T 2/ 2

1. HR vad yeEfi & agEed H 9Eed &
vETq g gaehid yat i IR e @
STt & 3 TfiT yehrer w1 yesa ufy @
e foard qan 2 |

2. ¥ & 9gusya 6 fafim A9 @ s=
foran &t & o y® 9w faviy @1 @
I B A R

3. 319 2023 H, W@ % g G WA
G JuwTen g Wi § ufy %
e § gt sfa 1 fa forn mm

2 fau U e F1 wE = I g
(a) ad 1

(b) had 2 3R 3

(c) ohae 13 3

(d 1,2 3R 3
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66. Litmus, a well-known acid-base indicator, is | 69.
derived from :
(a) Fungi
(b) Lichens
(c) Bacteria
(d) Termite
67. What is the oxidation state of Vanadium in
V905 ?
(a) +2
(b) +4
() +3
d +5
68. Match List-I with List-Il and select the
correct answer using the code given below the | 70.
Lists :
List-1 List-11
(Allotrope of (Property)
Carbon)
A. Graphite 1. Thinnest and
strongest material
B. Diamond 2. Hardest natural
substance
C. Fullerene 3. Very light and strong
material
D. Graphene 4. Soft and slippery
material
Code:
A B U D
(a) 4 2 8 1
(b) 4 3 2 1
(k=] 3 2 4
() =a 2 3 4
RRAN-A-GAT (17=A)

Consider the following statements regarding
the International Date Line :

1. It is roughly 180° meridian, which
deviates slightly East and West to avoid
land areas surrounded by the Atlantic
Ocean.

2 The date to the East of this line is
(24 hours) earlier than to the West.

Which of the statements given above is/are
correct ?

(a) 1only
(b) 2only
(¢c) Both1land?2

(d) Neither 1 nor 2

Which of the following statements regarding
‘aurora’ is/are correct ?

1. The solar wind upon reaching the
Earth’s atmosphere is directed towards
two magnetic poles and a colourful
display of lights is seen in the night sky.

2.  The particles interact with the different
gases of the atmosphere and each gas
glows with a particular colour.

3. In April 2023, aurora was captured in
the night sky in India by the Indian
Astronomical Observatory at Hanle,
Ladakh.

Select the answer using the code given below :
(a)
(b)

1 only
2 and 3 only
(¢) 1land3only

(d 1,2and3
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71,

FI9HR 12547 (Barchan) % Hay ¥ f=fafaa
¥ ¥ FH-91/39-8 a7 g8 8/3 2

1. I8 91 H AY-GgehR del B, S neeyd
# Ay % amar o @ fem # aw @
fafia g 2 |

2. Y@ 9§ &I o Iaa @I At B
Ug JAftrehan et 39 T A Bt ® |

3. w@R 1258 % 3l BR T FEAw §,
3R A v & wg i fewn & fawda fean
#1 3R Hoha FQ B |

H= few 7 e #1 wEm W I g
(a) Fad 1

(b) had 13 2

() Faw 23 3

(d 1,23MR3

72 Ve gm % dew § fefe & @

RRAN-A-GAT

HH-A1/HH-8 U T 7/8 2
1. %€ g @ H, gy (fasdt) sfi 3k
TR |

2. ¥& I AR Iy wifeufemt & www
ZEHA ST e W et &8 R |

3. 3@ UG H ANH ¥4 § HIE HI @l I
St # |

H= few mu e #1 wEm = I g
(a) 132
(b) 233
(c) ad 2
d) wad 3

73.

74.

(18-A)

T @ Hafva fefafes s @
H-a1/H-8 T 3/ 2

1. #El @ FEE 3R FH Y F AEA W
Fifigha o <mar 2 |

2. 9K % IFER 3% I, uey IR
A9} &% &9 & Ffiepa feran smar 8 |

3. Tll, auielt 3R wi-wurh #g 3= Ay
TE

= U T e 1w = I g
(a) a1

(b) aer 130 2

(¢) e 23 3

@ 1,233

‘G’ & ey °§ fefafea s w ffEwr

Hifsm

1. o fom & d afows @ 2, =t aw
o o effar Sea o # |

2. ita amam afsa wen & dEg ? |

3. I araw, W Fen 9y afdr ()
wd 3¢ Iy Y (wefd) & <fiw i dm
2, & Fw Ay, & dY F IW
et Bt B 3R 3EF W I R |

I # ¥ HH-A1/PH- FYH T 2/F 2
(a) had 1

(b) had 130K 2

() Fas 233

d 1,23M3
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71. Which of the following statements regarding | 73.

Barchan is/are correct ?

i It is a crescent shaped mound of sand,
which is deposited by the wind
blowing constantly from one direction in
a desert.

2.  The windward side has a convex steep
slope with maximum height at the
centre.

3. Two ends of Barchan are called horns
and point opposite to the direction the
wind blows.

Select the answer using the code given below :

(a) 1lonly

(b) 1and 2only

(¢) 2and3only

(d 1,2and3

74.
72. Which of the following statements regarding

Regur soil is/are correct ?

1. It is a light coloured, clayey and fertile
soil.

2. It is developed on Deccan basaltic lava
under hot and humid conditions.

3. Cotton is extensively cultivated in this
soil.

Select the answer using the code given below :

(a) land?2

(b) 2and3

(¢c) 2only

(d 3only

RRAN-A-GAT (19-A)

Which of the following statements regarding
clouds is/are correct ?

1. Clouds are classified on the basis of
altitude and their form.

2. According to altitude they are classified as
High, Middle and Low clouds.

3. Stratus, Nimbostratus and Stratocumulus
are high clouds.

Select the answer using the code given below :
(a) 1lonly

(b) 1and 2 only

(¢) 2and 3only

(d 1,2and3

Consider the following statements regarding
“fronts’ :
1. The movement of a front causes a slow

change in weather in the area over
which it moves.

2 Cold fronts are associated with

thunderstorms.

3.  Warm front is the boundary between an
advancing mass of warm air where it
is overriding and rising above a mass of
colder air.

Which of the statements given above is/are
correct ?

(a) lonly

(b) 1and2only
(¢) 2and 3only

(dd 1,2and3
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75.

76.

RRAN-A-GAT

sl % wag § feafafes e w fEw

#ifs

1. @ gaet § wfeam v Hfeaam i wmn
o7a fes & 3 et pH 7-0 ¥ s
&, 9 & gerd # |

2. A FUE TG FHA qGIeS @ W
;W%Qﬁﬂléqﬁfﬁ:ﬁﬁ%mﬁmﬁm
|

3. WeugE Y Ut wag ¥ e mewd @
FuE & S ? 3 R e &

ferme & g g 2 |
I § | BH-A1/HH-F Fo T 2/F 2
(a) Had 1
(b) hae 13 2
(¢) Fad 23 3
@ 1,233

el arayfy (ameete) & fafafe fdars

‘T{ﬁlﬂﬂaﬁfﬁm:

1. " agfE gy 1 s fawga 8
el & 3R wdt A€ frerd & |

2. gl hl Foarg Hi faewand, I fiswepre,
38 Wiawa R IETRd = aw S
Tea: aHa 3 ey # Bt 2 |

3. g wr #, wrEt # 9fy ok few Fan
T A1 399 M Bt B |

I fasivarelt & wmr w, Y Ru M

fawedi § @ wdt wayfa = gt .

(a) wWHS

(b) Sl

(¢c) H4aMI

@ Hum

7.

78.

79.

80.

(20-A)

wifr Sif¥reR-fgt & w9y #, frafafea & 3
HH-T1 HYH TE B 2

(a) 9 HaA BIEHITATES & &4 &4 2 |

(b) 9 FaA N & 54 B4 & |

(©) gaﬁamﬁiﬁgaﬂzﬁaﬂﬁaﬁ@%
|

d) 9 HEpfade, WA R S
(fafee) @ s 8 & |

Frafafea & & #9-m, 93 genesl #1 wm
T
(a) fm
(b) WS
(c) foe
@ e

frefafiga & & #-m, sgdt Slw@ % sFar
T TR & ?

(a) WA - — Fds — 3

(b) WIEH - 3 - FHah - Aa

(¢) WA —fia - 371 —Fas

(d) WA - Fas - 30 -

fraferfiaa sifsmem il @ famr ife .

394w ° | fopa /e, wiftr S wer &
e 2/% 2

a)

) 2

() 3

d 4
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75. Consider the following statements regarding
soils :

: % Soils having a very high content of
sodium and calcium and pH of more
than 7-0 are alkaline soils.

2.  Black cotton soil had developed on the
Deccan basaltic lava under hot and
humid conditions.

3. Laterite soils are characterised by a
deep weathered layer from which silica
has been leached.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 1and 2 only

(¢) 2and 3 only

(d 1,2and3

76. Consider the following characteristics of a
grassland :

1. An extensive area of mid latitude
grasslands are devoid of trees and
shrubs.

2. The climate is characterised by hot
summers, cold winters and relatively
low rainfall occurring mainly in spring
and summer.

3.  In humid parts, grasses grow to a meter
or more in height.

On the basis of the above characteristics,

select the correct grassland from the options

given below :

(a) Steppes

(b) Prairies

(c) Savanna

(d) Pampas

RRAN-A-GAT

77.

78.

79.

(21-A)

Which of the following statements regarding
animal cell membrane is correct ?

(a) They are composed of phospholipids

only.
(b)
(e)

They are composed of proteins only.
They are composed of phospholipids and
proteins only.

(d) They are composed of phospholipids,
proteins and cholesterol (lipid).

Which of the following is not a part of
compound microscope ?

(a) Mirror
(b) Stage
(¢) Clip
(d) Retina

Which one of the following is the correct
sequence in increasing complexity ?

(a)
(b)
(¢) Protein — Organism — Organ — Tissue
(d)

Protein — Organism — Tissue — Organ
Protein — Organ — Tissue — Organism

Protein — Tissue — Organ — Organism

Consider the following cell types :

I Monocyte
2. Chondrocyte
3.  Basophil

4. Lymphocyte

How many of the above belong to animal cell
types ?

)l
(b) 2
) 3
d 4
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81.

82,

83.

RRAN-A-GAT

HHa gred 99 8, Fafafea § @ sv=mm 6
e sA-A 22

(a) = fagwi (fafvs giociew) # died &
fore gss-afsraet &1 wau

(b) fom #1 gurw i el gem
(c U, U o Wiftww (W) ==
Hqul

(d) ST AT sl IS HET

Frfafaa uat w famr Hifvo .

1. v« ®mkd faga @1 @ @ DNA @
o e 2 |

2. HWA @I & HivER faweH & gEd
TE-ATHR & TR H qGfEYd HidT B |

3. WiEhghl  (WMibfER) e gehgdl
(gHfeEre), 2H § Fifde fvyem e
THEHT Ui R |

304 § ¥ HH-H1/HH-8 HU 98 2/ 2

(a) ad 1

(b) hael 137K 2

(e 1,233

(d) %ad 3

TE & 024 kg Go99H H1 Th THEHH Hie
Thel ST ST @ | 39 afowr feufa #, & A,
W, 3R W, H T@r 9 R | W, 7 U R A
02 m %I g W2, F&fh W, R AR F 04 m
1 gl W 2 | A e W W, & FR0 Afifia
A N, 3 W, % Hr 3fdfd se1 N, B, @ -
(g =100 m s~2 &fifSm)

() N;=16N3RN,=08N

(b) N;=08N3MN,=16N

(¢ N;=06N3IRN,=18N

(d N;=18N3RN,=06N

(22-A)

84. Yeefl § yarE 9@ (UEhY wfig) 112 km s 1%

frre # | gt swe #, fweh fen godft A
B i aneft @ 3 fowen gomm we gedt
% 7EWH T ¥ 9RO R, weEE 9
km s~1 ¥ fopEes fepe Bnft 2

s 4 i
(b) 158
(c) 56

d 79

. Frafafes & @ F9-w, T gel § = ao

R 7g7 B8 ?

(a) o HoAl 1 qREET Hd &

(b) 37 STHA HTEAH hI HEwIHAT Bl B
(© 9 Iy Bt &

d 9 A& it gorr #, @ et ° o @
T AT 8

. 01 kg 599 6l T 7 I 0-45 m I 48 &

FAN a8 W i smar 8 3 T8 020 m =S
% Ioadt 2 | 3¢ 77 0-1 s & foI a7 & wueh
T off, O 3HP IBAd 9T da W ARG e
A 2 : (THET T g = 10 m 52 Sf0)

(a) 10N
(b) 60N
(c) 30N

(d 50N
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81. In the human digestive system, which one | 84.
among the following is the role of the
pancreas ?

(a) Secretion of surfactants to break up
lipid droplets

(b) Storage and regulated release of bile

(¢) Secretion of lipase, amylase and
protease

(d) Neutralizing stomach acids

82. Consider the following statements :

1. DNA replication takes place when
chromatin is opened up.

2. Chromatin  organises itself into 85.
rod-shaped chromosomes before cell
division.

3. Both prokaryotes and eukaryotes have
the same process for cell division.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 1and2only

(¢ 1,2and3

(d) 3only 86.

83. A uniform meter scale of mass 024 kg is
made of steel. It is kept on two wedges, W,
and W, in a horizontal position. W, is at a
distance of 0-2 m from one of its ends, while
W, is at distance of 0-4 m from the other end.

If the force on the scale is N; due to W, and

N, due to Wy, then : (take g = 10-0 m s72)

(@) N;=16NandN,=08N

(b)) N;=08NandNy=16N

(¢0 N;=06NandN,=18N

(dd N;=18NandNy=06N

RRAN-A-GAT (23-A)

Escape speed from the Earth is close to
11-2 km s~L. On another planet whose radius
is half of the Earth’s radius and whose mass
density is four times that of the Earth, the
escape speed in km s~ will be close to :

(a) 112
(b) 158
() 56
(d 79

Which one of the following does not apply to

sound waves in fluids ?

(a) They transport energy

(b) They need a medium to travel
(¢) They are transverse

(d) They travel faster in liquids than in

gases

A ball of 0-1 kg mass is dropped on a hard
floor from a height of 0-45 m and rises to a
height of 0:20 m. If it was in touch with the
floor for 0-1 s, the net force it applied on the

floor while bouncing is (take the
gravitational acceleration g = 10 m s72)

(a) 10N

(b) 60N

(¢ 30N

(d 50N
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87. W dia & ey #, =feifed & @ S-an

88.

RRAN-A-GAT

FUF TE 8 ?

T At ¥ AEde AW Wit T8
AT 2

(a) Had B JAAM & foru, wife a9 39
e W Rl 32 a0 9% e w
it i s 2

(b) frft ft smm & forw, =ifF TS W
FEvfid J2 w1 wHWT 3Ee faweTd *
HHHYTAS g 2 |

(¢ fFft off sm & fom, w=ifF T8 W
e F2 59 39 e w Al 58

H B |

(d) Had B AAE % o, Fife a9 96
T W HEME 42 o 395 o= &

A Bar 2 |

faftm odu st & ar § fF=ffes § 3
HI-91 HET B 2

(a) TIfat oor > ©dferen wor > g Ty
(b) e Tor > I = > e wfor
(c) wfoes wfor > wfewt wdor > A oy
(d) s v > vfas wor = agF T

(24-A)

89. m GEANH % UH UTg & Mol X HI, A foufa &

SIS ST 8 | 98 HEEW gEt Mt Y &/, Fd uw
gfcsr o W a9 w foow omwem ®
B feufa w war w2, weareyaan ewvar 2
I AOB =30°® :

- - - - - - - o

Y*
B
THUA & qehTed o1, el X fovaar 3= 33m 2

(@) I I 7% F FAH ET-UY W el
I A furfa 2

(b) 3T et FuE 9F S EHH YEY-UY W
Zal I A H feufa R

(0 Afeafa womm S=rd
(d) I8 Bfeufa W o wmar 2

. A9 o T 3 el W famm Fifs

FYF-1: FAITH AU B ST a0 it F&1 S
2
HY7-2: TA % A AGTh a1l H FEE F
FEIMNfYa o B |
Hi= fqu U e @1y W wd I g
(a) THI HIT F-He FE § 3R HYT-2,
HYF -1 T & TR 2 |
(b) THI HYF F-FA G &, g -2,
HY-1 H & TR FF R |
(c) H¥H-14& 8, fohg -2 7% 2 |
d) wHI-2TH 8, fhg FU-170@ B |
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87. Which one of the following statements 89.
regarding simple pendulum is correct ?
Simple pendulum has a time period
independent of amplitude :
(a) only for small amplitudes because then
the net force on its bob is independent of
its displacement.
(b) for any amplitude because the net force
on the bob is always proportional to
its displacement.
(¢) for any amplitude because the net force
on the bob is independent of its
displacement.
(d) only for small amplitudes because then
the net force on its bob is proportional to
its displacement.
m.
88. Which one of the following about different
frictional forces is correct ?
(a) Kinetic friction > Static friction >
Rolling friction
(b) Static friction > Rolling friction >
Kinetic friction
(¢) Static friction > Kinetic friction >
Rolling friction
(d) Static friction > Kinetic friction =
Rolling friction
RRAN-A-GAT (25-A)

A metallic bob X of mass m is released from
position A. It collides elastically with

another identical bob Y placed at rest at
position B on a horizontal frictionless table.
The angle AOB is 30°.

o)

How high does the bob X rise immediately
after the collision ?

(a) To the same height as that of position A

on the other side in the same trajectory

(b) To half the height as that of position A
on the other side along the same
trajectory

(¢) The same height at position A

(d) It stops at position B

Consider the two statements given below :

Statement-1 : Infrared waves are also called
heat waves.

Statement-2 : Water molecules readily absorb
infrared waves.

Select the correct answer using the code given
below :

(a) Both the statements are individually
true and Statement-2 is the correct
explanation of Statement-1.

Both the statements are individually
true, but Statement-2 is not the
correct explanation of Statement-1.

Statement-1 is true, but Statement-2 is
false.

Statement-2 is true, but Statement-1 is
false.

(b)

(c)

(d)
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91.

920

RRAN-A-GAT

frafafea #§ @ *9-8 so wdt & 2

1. JAEdl vaed § wia % @iy fafew
‘SR ey w1 37 it o fF wrE
=l fafew frafa &1 ge9, wra @ fafew
HA % o4 8 ycAfees 33 o1 |

2. fwea #, o0& 9R # G F &
TEIAT HF, WRA A IAEd s H
I # v srforewen # wgeq
st fé |

3. fsea 3 wwa § b I ik =@ <
fata fran aik, safer, 1820 % =9 %
G FB T & foY, bW YRa #1 tee
a9 we1 fafq =9 ma |

4. G A 3 R F= 91e ® fata
4 firrare, ofv fafafifa wrer o afy 3t |

ﬁ%ﬁﬁﬂq%wmwwgﬁq

(a) hael 13K 2

(b) e 3 3N 4

(© 1,2,33NR4

(d) hae 1,233

-1 g1 & gafea Aifvm ik gt &
9 o e e 1w wd I gh
-1 -1

(9rfi7 9Ra & (fv7-ag)
Y% §T%)
i
TferasT

YT
9z

NR I A9
Y 1 7Y
H H BT
KEIEIR:

g P ow e
R L

A
(a) 2
(b) 2
() 3
d 3

l—ﬂ»F-rlkHw
rlkn--n-l.:.xo

MMMWU

93.

95.

(26-A)

Wt gfer & wmEeht & A i R wom
foah formes gro st e o 2

(a) R

(b) gefa
(e T«
@ feg-gar

gl ok fod varfed & anfie
fogmeri g sheifiefeo, el
e, ot fewmdem ¥ sgE @
foraeht et % w9 § " foa m 2

(a) 3mgfhar

(b) HHAATG

(c) TaA

(d) weIgHaTg

frafafea 4 @ S, & 78 gesit w1 ad
HEATHA 2 (IRT & At Fa8 7F) ?

(a)-21,2:8. 4
(b) 3,4,2,1
() 3,2,4,1
@y 23 4%
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91. Which of the following statements are | gg,
correct ?

1.  British ‘trade surplus’ with India in the
nineteenth century meant that the
value of British exports to India was
much higher than the value of British
imports from India.

2. India played a crucial role in the
late-nineteenth-century world economy
by helping Britain balance its deficits.

3.  Britain grew opium in India and
exported it to China and, therefore, for a
while after the 1820s, opium became
India’s single largest export. 9.

4. The nineteenth century saw export of
Indian raw materials decline, and that
of manufactured goods increase.

Select the answer using the code given below :

(a) 1and?2only

(b) 3and4only

(¢ 1,2,3and4

(d 1,2 and 3 only

92. Match List-I with List-Il and select the
correct answer using the code given below the

Lists :

95.
List-I List-11
(Unit in use in (Content)
early India)

A. Muhurta 1. Measure of weight

B. Raktika 2. Measure of time

C. Angula 3. Metre of poetry

D. Pada 4. Measure of length

Code:

A--'B €D

(a) 2 1 4 3

b 2 4 1 3

kol i d 4 i %

{d)i"" 8 1 4 2

RRAN-A-GAT (27-A)

First coins in Indian history bearing the
names and images of rulers were issued by
the :

(a) Mauryas

(b) Pushyabhutis
(¢) Guptas

(d) Indo-Greeks

Social theorists in the nineteenth and
twentieth the
emergence of industrialisation, urbanisation,

centuries  emphasised

secularisation and bureaucratisation as
hallmarks of :

(a) Modernity

(b) Feudalism

(¢) Kingship

(d) Medievalism

Consider the following events :

1 i Launch of Non-Cooperation Movement
2.  All-India Khilafat Conference in Delhi
3.  Passing of the Rowlatt Act

4.  Jallianwala Bagh incident

Which one of the following is the correct

chronological order of the given events
(earliest to latest) ?

(a) 1,2,3,4

(b)) 3,421

(e): 3,2, 41

d 23,41
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96. eI H gAl-11 & gafera i it gt &

97.

RRAN-A-GAT

= fu U 2 @1 W W wd I gh
gl garil
(aeer/ ) (faarr)
A JR 1. frEm U5 & Yae
% foru i soerh
Tata & e giftd
ﬁmmﬁﬁ

a1 YR @

B. TsikR 2.

C. Frdier 3.

RIS

aféror wa #
HEGIIh! YD IR
geitufea e
BUGIEET]

D. Fm 9

-

%< :

B
;A e |
§ ) T R 1
I B 1

N N W W

d 3 1 4

- fasm % T FeREmE A ¥ W i

frafafiga § @ F9-3 s adt € 2

1. 39 WEA % AfE anl § IRM IS
& s & favg g R |

2. 1520 $Hal #, 3B SRS e @ A
TR 1 T Sfia fomanm |

3. FURHW 7 GoaH WeHe WE Hl o6 §
HEya e 3 Za7-usy-wgrga-
a7 i veet g 6 |

Hi= fqw e e @y w I g

(a) ael 1 3R 3

(b) haw 2 3 3

() 1,23MW3

(d) haw 1 3R 2

98.

le

101.

102.

(28-A)

HI9-3TR-14 (amex ) femmept firgor 2 2
(a) CO, 3N H,

(b) CO 3R H,

(¢) €O, 3R HY0

(d) CO 3 H,0

AHa YRR fh| pH ¥ (W) § %1 &t 2 2
(a) 68-72
M) 70-78
(c) 65-75H
d 75-80

9 & Ut & e #§ frmfafad § @ we-a

HYT W& g 2 2

(a) & i fafire o = &9 @ 3=
Bt 2 |

(b) S % HEEA I T FT AAd A=
Bt 2 |

(c) & I U°cd 9% & Hfereh B 2 |

d) g 5 faga *1 s=Ter g g |

frafafiga & & frm i it 1y ay sk wa
et et @ 2

(a) U Veehlalal

(b) vHifeH A

(© ufya dfiee

(d) UHREEER

NaCl ST (Afed) § Nat+ 3 CI- 3wt 6
IYEEHIISH TSI T8 ?

(a) 6,1

(b) 1,6

(c) 6,6

(d 5,5
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97.

RRAN-A-GAT

Match List-I with List-II and select the
correct answer using the code given below the
Lists :

List-I List-I1

(System /
Category)

A. Upari

(Description)

o

Peasants directly
responsible for the
payment of revenue

Category of tenancy
tenure held under the
Marathas
Gifts of land or land
revenue

B. “Paliadar 2.

C. Mirasidar 3.

D. Inamlands 4. Co-parcenary title holder

and designated revenue
payer in southern India

Code:

(a)
(b)
(c)
(d)

mew}
i kR
L T N e
N N W w

Which of the following statements about
king Krishnadevaraya’s
expeditions are correct ?

Vijayanagara

1. In the early years of his reign he
marched against the ruler of Orissa.

2. In 1520 CE, he captured the fort of
Raichur from Ismail Adil Khan.

3. Krishnadevaraya restored Sultan
Mahmud Shah to power and assumed the
title of Yavana-rajya-sthapan-acharya.

Select the answer using the code given below :
(a) 1and 3only

(b) 2 and 3 only

(¢) 1,2and3

(d) 1and2only

lm.

101.

102.

(29-A)

Water gas is a mixture of :
(a) COyand H,

(b)
(c)
(d)

CO and Hy
CO4 and HyO
CO and Hy,O

Human body works in the pH range of :

(a) 6:8-72
(b) 70-78
(¢ 65-T75
(d 75-80

Which one among the following statements
with reference to the properties of water is
not correct ?

(a) The specific heat of water is abnormally
high.

(b) Latent heat of fusion of water is very
low.

(¢) Density of water is higher than ice.

(d) Pure water is a non-conductor of

electricity.

Which one among the following compounds
has a sweet and fruity smell ?

(a) Ethyl alcohol

(b) Acetic acid

(c) Ethyl acetate

(d) Acetophenone

What is the coordination number of Na* and
CI™ ions in NaCl lattice ?

(a 6,1
(b) 1,6
(e) ;1658
d 5,5
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103.

104.

105.

106.

107.

RRAN-A-GAT

foreg 9t (Fea) A oeht & i F Prafofas §
¥ w1 faewm gar @ 9 Sem aen @€ 3w
FATR 2

(a) ﬁéi‘-ﬁ'sazm

(b) TUIATEH A

(c) WHAIgH A

d) uHifes s

Frafafaa & & ford fies a1fe Aeiiftrn & am
Y FHT IR 2

(a) AW sTEHEe

(b) EHIRREY HEHe

(¢) BfifIEm gohe

@ BfEm EEgiEEs

S % WY HIE FAT S41GT1 8 2
(a) WBeaius za freea

(b) oI ga e
(c) @I foe==

d) foreifus ga fea

fr=fafiga & @ siew 1 9& due sR-a1 2 2
(a) wifezm, s, i 3R gEeem
(b) Efeaw, IRH, AT 3R FESeA
() urRfirm, S, o ik aEgem
(d) difeTm, SRE, AE2eA N FESSE

frafafga & @ frg s #1 o 3=
2?
(a)
(b)
(c)
(d

Na,0
MgO
FeyO4
CuO

108.

109.

110.

(30-A)

Y SOR-wE & wey o fefafed § @

HH-1/H-H HIT & /8 2

1. T8 9% 14 - 15 T & ufeq dar 2,
=g % wom 3R gt wgaty (F@rdt) F
& a WA R |

2. 3 RN H oY R IRER B 2
Fiife =g i g A wifewat
ey feufy & 2t & |

= fgw mu e 1w oI g

(a) ad 1

(b) hael 2

(¢) 13 23Mi

d JTa@1L,TE2

9 & gay § fafafas § @ S-ar/s9-38

Hu wEl 8/2 2

L Y8 W IE WM, S YhY h IgM Hg
% 3% FW A1 8, IV YHY &1 3ferhg
FEd 2 |

2. yhd Wt o fodftas o 3w e
%Gﬁ‘fﬁq%w%ﬁﬁwaﬁaﬁr
Hefa gt 7 |

3. wﬁm%mﬁwfﬁgﬁmﬁﬂﬁ
I FZ aA YHT ¥ Al @fd g
I FHTET Bt R |

H= fqu e e @1 v W I g

(a) e 1

(b) e 130 2

(c) hae 23 3

@ 1,233

I % d9HE % Hey § fefafed § @

HH-AT/HH-T 97 T8 2/8 ?

1. g % AEE 498 ¥ 12 m (40 F2)
Fl A FETE W AT ST 2 |

2. FTE 9gd & WY A9HH & " & 3iEd
T I Ity a8 2 HEd 8 |

ﬁ%ﬁqwfemmwaﬁtgﬁq

(a) whad 1

(b) Had 2

(¢) 13K 23l

(@ Fd@ 1,782
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103. Which one among the following is present in
the nettle leaf hairs that causes burning
pain ?

(a) Methanoic acid
(b) Ethanoic acid
(¢) Benzoic acid
(d) Acetic acid

104. Which one among the following is known as

Milk of Magnesia ?

(a) Magnesium bicarbonate
(b) Magnesium carbonate
(c) Magnesium sulphate
(d) Magnesium hydroxide

105. Soap with water forms :

(a) Metallotropic liquid crystal
(b) Thermotropic liquid crystal
(¢) Homogeneous solution

(d) Lyotropic liquid crystal

106. Which among the following is the correct
composition of Borax ?

(a) Sodium, Boron, Magnesium and
Hydrogen

(b) Sodium, Boron, Oxygen and Hydrogen

(¢) Potassium, Boron, Oxygen and
Hydrogen

(d) Sodium, Boron, Nitrogen and Hydrogen

107. Which one among the following oxides has the
highest melting point ?
(a) Nay,O
(b) MgO
() FeyOq
(d CuO

RRAN-A-GAT

108.

109.

110.

(31-A)

Which of the following statements regarding
neap tides is/are correct ?

)i It occurs every 14-—15 days, which
coincides with the first and third
quarter of the Moon.

2. This tide has a small tidal range
because the gravitational forces of the
Moon and the Sun are in quadrature.

Select the answer using the code given below :

(a) 1only

(b) 2 only

(¢) Both1land2
(d) Neither 1 nor 2

Which of the following statements regarding
earthquakes is/are correct ?

1.  The point on the Earth’s surface directly
above the focus is called the epicentre of
the earthquake.

2. Earthquakes generate Primary and
Secondary waves that radiate outward
from the earthquake focus.

3.  Deep-focus earthquakes are likely to
cause more damage than shallow-focus

earthquakes.
Select the answer using the code given below :
(a) 1lonly
(b) 1and 2 only
(c) 2and 3 only
(d 1,2and3
Which of the following statements regarding

air temperature is/are correct ?

1. Air temperature is measured at a
standard height of 1-2 m (4-0 feet) above
the ground surface.

2. The average rate of temperature
decrease with height is termed as the
environmental temperature lapse rate.

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2
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111, 3G % oy # fFefoafea § @ S9-ar/#9-3

112,

RRAN-A-GAT

HU9 |é 2/8 2

1. & dgusa # fqoum Seamsy &
aredfas A i fedt fow o amnE w
3G GRT YR I A1 A Frelt it
T % i H AU R |

2. & anfs adar st At R, @ e
¥ s 91 a1fsad grar 2 |

3. 9 & quF e sifees @, ag f
anfé smgar I &9 Enft |

ﬁ@wvmmwmgﬁq
(a) e 1

(b) haa 23 3

(¢) %ad 13K 3

(d 1,23R3

Isharal 3R Sfaeshardl % gay ¥, freafafaa

H ¥ HH-T1/HH-8 F99 98 2/ 2

1. Iud e ¥, Sshard gt H g8 F g
#1 fom & fawda gua € ot wfe=swam
udl it g F g ) R F g # )

2. shald Y UUTSSH 41 99 % HEW ¥
Hag &, Jafh yfoeshar @ a6 dew
¥ Hag # |

3. cfenft Memd #, wshar w1 g wd
g F g f fwm § @ wife
HifToE aat a8 3 Frf Har # |

(a) whad 1
(b) as 130 2
() e 23 3

d 1,233

(32—

113. & 7 faviwarsdi & amum W wwa § fm wgd

114.

A)

IeH I TR ;

1. I8 9Rd % vt 92 © e v vraredt
8 oft a1feres g o5 R

2. T TH WFHlw deUNE ¥ S qwr-0usw
(sparet) 3R dedy (W) grr oft Tfae
21

3. W 14 IR TEE H & 9 g
T 9 TR D GGUE F T4 HA B
FEEL AR |

= o mu faeedt § @ wd wud v gfiv
(a) HUTG qaa

(b) THEA™ g

(c) I geH

(d) SETEETE YEE I

& 78 faRivarsti % UR W oig v§ e @9
Eﬁlqﬁrﬁq:

1. I8 9 @ SR iR Yaue qun e
(H3I3M) A ANB-31TEH 9T HT 2 |

2. foga wfeai & fou foveh dudes @ o
$1 It 7 |

3.  SIFA a9 W@ A ¥ S W B @ |

H= fou mu fawhedi # @ wdt <l v 3w T
=l g ;

(a) Toem$ soama waA

(b) Y 1T TIH

() TSTHe 99T G5

(d) SR T T
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111. Which of the following statements regarding | 113.
humidity is/are correct ?

1. It is a ratio between the actual amount
of water vapour present in the
atmosphere and the maximum amount
it can hold at a given temperature.

2.  When the relative humidity is high,
more water evaporates from the skin.

3.  Higher the air temperature lower the
relative humidity of the air.

Select the answer using the code given below :

(a) 1lonly

(b) 2and 3 only

(¢) 1and3only

(d 1,2and3

112. Which of the following statements regarding

cyclones and anti-cyclones is/are correct ? 114

14 In the Northern Hemisphere, cyclones
rotate counter clockwise and
anticyclones rotate clockwise.

2 Cyclones are often associated with
cloudy or rainy weather, whereas
anticyclones are often associated with
fair weather.

3. In the Southern Hemisphere, the
cyclonic spiral will be clockwise because
the Coriolis force acts to the left.

Select the answer using the code given below :

(a) 1lonly

(b) 1and2only

(¢) 2and3only

(d 1,2and3

RRAN-A-GAT (33-A)

Identify the sea-port in India on the basis of
the given characteristics :

1. It is more than a century old port on the
west coast of India.

2. It is a natural harbour protected by a
breakwater and also by a mole.

3. A deep draft channel of about 14 metres
depth permits large vessels to enter the
harbour.

Select the correct sea-port from the options
given below :

(a) Mormugao Port

(b) Deendayal Port

(¢)  Cochin Port

(d) Jawaharlal Nehru Port

Identify the Iron and Steel Plant on the basis
of the given characteristics :

1. It receives coal from Jharia and iron-ore
from Sundargarh and Kendujhar.

2- Power for the electric furnaces is

procured from Hirakund.

3. Water is obtained from Koel and Sankh

rivers.

Select the correct Iron and Steel Plant from
the options given below :

(a) Bhilai Steel Plant

(b)  Durgapur Steel Plant
(¢)  Rourkela Steel Plant
(d) Bokaro Steel Plant
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115.

116.

RRAN-A-GAT

yeeft i rafte Gt % Hey # fafafas o

" HH-T1/HH-8 S5 T8 2/3 2

1. WEETHE 99 s udd & vl R |

2. geft it i orafes e dew F
it gurfaa 2 |

3. W&t # guq Hawh HI3| gr1 I ywE
Bt ? o wie-faadfe wfFmet =
e B g |

i faw e e 1y I g

Fad 3

Fae 131 2

Fad 2 3R 3

1,23 3

(a)
(b)
(e)
(d)

@ T oA F deyw #, fefafe § @
FH-FT/HH-V Foa a8 3/ 2

1. TH9 9G¥ fEm ¥ 9w d vaw
2

2. TEER # E0 G we T8 AR D
oot wra & &a%e 1 e 10 vfavE
e 2

3. el IR sqa Afeat T T hr ggeayyl
wEES gt § S I wew # g 5w
T ° forerdt # |

H2 fw T e 1 s w3 g
(a) Fad 1

(b) Wae 130 2

(©) had 23R 3

(d 1,23R3

(34 -

117.

118.

A)

aAfea JeaTg TR 3N I R IR
AE 89 (ITCZ) % 919 H9y % & #
fafafiga § @ F-w1/#9-8 = ad 2/8 2

1. 38 WITCZ % Y9G & HRU IURiFay
a1 Sierary fava i vy afie vt areh
JAag H H TH B |

2. IWERady FEaM ey # g ek
% WEE w1 Uk faves  gfedd
(Thieror) g e R, e gen sno
mmqmiaﬂnfrcz%aqmﬁ
Hedt ageE R |

3. Iwmitadld wHgy wewg # ad ¥
AH W ITCZ # fFwea %
RumreeEy it st Bt # |

9 faw e e 1 i @ I g
(a) e 1

(b) e 130 2

(¢) Faw 233

d 1,233

IWThieay whardl % gay § frafefad § 3
HIH-HT/FH-8 F97 Th B/F 2

L }m(wm&wmﬁmm@ﬁ

gt
HEETR # A a1l IWrhfeay =shama
Wl TFHA F T T FE AT R |

3. &g ok Zfarflt wwia wemrrl & o O

Wmﬁaﬁwmm
r

i faw e e #1 v W= I gh

(a) had 3

(b) aA 130 2

() was 130 3

d 1,233
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115. Which of the following statements regarding | 117.

Earth’s internal structure is/are correct ?

1. The oceanic crust is heavier than the
continental crust.

2 Most of the Earth’s internal heat is
contained within the mantle.

3. Large convective cells in the crust
circulate heat and drive plate-tectonic
processes.

Select the answer using the code given below :

(a) 3only

(b) 1and2only

(¢) 2and 3only

(d 1,2and3

116. Which of the following statements regarding
the given rivers is/are correct ?

12 Tsangpo crosses over into India under | 118.
the name of Dihang.

2. Godavari has the second largest river
basin covering about 10 percent of the
area of India.

3. Rivers Chambal and Betwa are the
important tributaries of river Ganga
which join river Ganga directly in Uttar
Pradesh.

Select the answer using the code given below :

(a) 1only

(b) 1and2only

(¢) 2and3only

d 1,2and3

RRAN-A-GAT (35-A)

g - These

Which of the following statements regarding
the World Climate Types and their relation
with Inter Tropical Convergence Zone (ITCZ)
is/are correct ?

1. Tropical Wet Climate is one of the

world’s rainiest due to the dominance of
the ITCZ over it.

2.  Tropical Savanna Climate experiences a
distinctive alternation of wet and dry
seasons, caused chiefly by the seasonal
shift in latitude of the subtropical highs

and ITCZ.

3. The Tropical Monsoonal Climate
experiences heavy rainfall as a
consequence of the nearness of the ITCZ
for much of the year.

Select the answer using the code given below :

(a) 1lonly

(b) 1and2only

(¢) 2and 3 only

(d 1,2and3

Which of the following statements regarding
tropical cyclones is/are correct ?

storms develop during the
summer and autumn in every tropical
ocean except the South Atlantic and
eastern South Pacific Oceans.

2.  Tropical cyclones that occur in the
North Atlantic and eastern North
Pacific Oceans are known as typhoons.

3. Tropical cyclones that occur in the
Indian and South Pacific Oceans are

called cyclones.
Select the answer using the code given below :
(a) 3only
(b) 1and 2 only
(¢) 1and3only
(d 1,2and3
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119. @ 7 fo¥ivarsi % smur W AW (land

120.

121.

RRAN-A-GAT

biome) ¥ Tg=H Hifsw .

1. 39 Joarg & faowar fye ani 3k
fa ¥ yg-3fia a% whafda @9 @

qEE # |

2. ¥ # 4&F ¥9 § qofardt gu & - forw
uue, 3, fewpit 3 dags wmite # |

3. 3§ H WA, IAUREH, IATEE 3N
firerefeat org wmdht 2 |

3 g 7 ke § @ @@ gofem @ g9
(a) IV o

(b) Sfidreo a9

(¢c) wfEFe a=

(d) YHSIEFHE o

rferepter i hi ot &0 e Tt =i
3 e woigha (Feifea) -

(a) o 3R i Yhrer 1 @9 F@r 2
Safeh & IH19 Hl qEfdd w2 |
(b) Had B TN Pl FEINN T 2 |

(c) & ThIS ! JGNIYG HLal & Safh AT
3 St wehre I quEfda wtar & |

(d) T YHI H WETdd Ha & d91 A
3 & TR i AT a2 |

S Wrahgeht (MihfEies) #, gs g
fepeet &reht 2 2

(a) 4

(b) 3

() 2

@ 1

(36-A)

122. SfiETY] DNA &1 79 (3H19) &l a1 8 it

TR WG T R
(a) Forel Shwics &
(b) WA

(c) UZHIATEA |
@ wifswsd

123. Fefafea +ifieet & @ e g

foondim wfosm (W) & faeg  wfoesh
(WFratel) Iea= fomam ST & 2

(a) ferwraTse
(b) TRgETEE
(c) ZAfEATRa
d) R

124. afe f= feu v fag 4 yefifa @2 P =+ fom

ae § @1 WU, a9 S F O GRETT 991
B ?

LTOIN et —> 2N

15 Ne——— e 1 IV

(a) BN
(b) 6N
(¢0 8N

(d 10N
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119. Identify the land biome on the basis of the
given characteristics :

1.  Their climates are characterised by high
rainfall and temperatures that vary
from cold to mild.

2. These forests contain primarily
deciduous trees — including maple, oak,
hickory and beechwood.

3.  Raccoons, opossums, bats and squirrels
are found in the trees.

Select the correct land biome from the options

given below :

(a) Tropical forest

(b) Temperate forest

(¢c) Boreal forest

(d) Mediterranean forest

120. Leaves of most plants appear green because
the chlorophyll present in it :

(a) absorbs red and blue light while
reflecting green light.

(b) absorbs green light only.

(¢) absorbs green light while reflecting red
and blue light.

(d) reflects red light and absorbs blue and
green light.

121. In most prokaryotes, the chromosome number
is:

(a) 4

(b) 3

e 2

B |

RRAN-A-GAT

122.

123.

124.

(37-A)

Bacterial DNA is referred to as naked because
it is not associated with :

(a) any scaffold

(b) proteins

(¢) ribozymes

(d) plasmid

Which one among the following cells produces

antibodies against a foreign antigen ?

(a) Lymphocytes
(b) Erythrocytes
(¢) Eosinophils
(d) Platelets

If the block P as shown in the figure below
were to be at rest, what should the magnitude
of force F be ?

10 N «— —> 2 N

15 N €= it 15 N

(a) 5N
(b) 6N
(0 8N
(d 10N
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125. Ffaflgs & & #9-w, i foge @ | 128, ot wma 33 & forg, 9@l o fredt ag F = @
wafa 787 & 2 gl 2, f o9 i BrE gt R ot v wfafds
&) = ¥ gt B, 9w fomeq (hifes) me @@
(b) Fer fafmms L
(©) CO,Ieasiq Ter Hi frafafy
(d) fufsean wa

(a)

126. fr=farfiga faga wftey w famm v . S

—AVWA— s
10Q
5Q 0Q 5Q

L AAMAM—
10Q

(b)

10V
ll

S faega ufy & aw R - u

(a 1A

(b) (10/15) A =
c f
(e)e 2 A /

(d 15A {

127. IS Geuey fha-fhe %1 GaisH & Hehar 8 2 caand
(a) 3 ITA Gl F
(d) v /
(b) T 3ITA 3N Uk adel o &I
(¢) QA Faas A4l I /
(d) U I o 3R TH IqA 40T H F

RRAN-A-GAT (38-A)
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125. Of the following, which does not belong to a | 128. For a human eye, where u is the distance of

nuclear reactor ?

(a) A turbine

an object from the eye, f is the focal length of
the lens and v is the distance of image from
the eye, which is the correct schematic

(b) Aheat exchanger graph ?
(¢) A mechanism to reduce COy emission
(d) A reaction chamber
(a)
v
> : S \,
126. Consider the following electric circuit : _—
AW i
10Q
—WWA WWW AWV
5Q 00 5Q
MWWA
10Q
(b)
v
10V
Il
The current in the above electric circuit is :
(a) 1A u
(b) (10/15) A e
(0 2A (© £ /
d 15A
u
127. A microscope may be a combination of :
(a) two convex lenses.
(b) aconvex and a concave lens. (d) v /
(c) two concave lenses. ) {
(d) aconvex lens and a convex mirror.
f
RRAN-A-GAT (39-A)
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129. 5@ 1 Hq g wufes sgugy  fmin

130.

RRAN-A-GAT

 qftgen & oy § f=faRes & @
FH-TT/B-A Ho d 2/F 2

1. 39 g3 & YhW ®I JGEad IR TH
St e Wiy |

2. FEH %had G % Y B AU ATTA
21

3. I8 Aiaieh ¥Y & &9 =91 2 |

4. TH TH ¥ e oAl TUEdT *
AW gE F TRN H UEdq off
wfhet 8 gehar & |

= fau e e F wEm W= I g
a9 1
1 3R 3
3 3K 4
2 3R 3

(a)
(b)
(c)

(d)

ffafga 4 & fem amf= 3 sg@ fen f&
fret ] § wHk goiag fafewor e #
IasE & o 38 for s § afeem =
HT 8 ?

IR CHIS

A, gHEA

(a)
(b)
(c) Hed|ER

(d) 3IcEd AFEEA

(40 -

181. LIGO Wi 3 fohm us wfgsgamft i gfe 6 2

132.

(a) T fogra

(b) Imférerar =1 fafdre fagia

(c) aATeH FifAeht

(d) ANfEFeRar =1 a9 g

2 kg GSIHTE 1 T sl 3 m/s sl RIS =T
¥ 7fd #d g 3 m A g T FA F €
gt &faw wag W o e § | w9 @6
aftTor @/ R 2

(a) 9N

(b) 3N
(c) 18N

(d 1IN

133. Frafoifiga & @ -1, v uig § faga um &

A)

=Tem % fore e w9 § forer & 2
(a) WREg A

(b) U gerag

(c) REg 3 g 2 e

(d A=
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129. Which of the following statements with regard | 131.
to the phenomenon of the primary
rainbow formation by water droplets is/are
correct ?

1 It involves refraction and one internal
reflection of sunlight.

2. It involves refraction of sunlight only.

3. It is formed as the inner bow.

4. It may involve more than one internal
reflection as well as refraction of | 132.
sunlight.

Select the answer using the code given below :

(a) 1lonly

(b) 1and3

(¢) 3and4

(d 2and3

130. Which one of the following scientists
mentioned that an electron in an atom could | 133-
revolve in certain stable orbits without the
emission of radiant energy ?

(a) Ernest Rutherford

(b) J.J. Thomson

(c) Niels Bohr

(d) Albert Einstein

RRAN-A-GAT (41-A)

LIGO experiment confirmed one of the
predictions of :

(a) String theory

(b) Special theory of relativity
(¢) Quantum mechanics

(d) General theory of relativity

A block of mass 2 kg, moving with the initial
speed of 3 m/s comes to rest on a
rough horizontal surface after travelling a
distance of 3 m. The magnitude of the
frictional force is :

(@ 9N
(b) 3N
(c) 18N
d 1IN

Which one of the following is primarily
responsible for conduction of current in a
metal ?

(a) Bound electrons

(b) Free electrons

(¢)  Both bound and free electrons
(d) Ions
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135.

136.

RRAN-A-GAT

¥ aqa g aftia WRa i e SFaer i

Frafafiga & @ F-d fasivand o 2

1. ca sifeRan U &9 H S9F areft 9 o
ST v |

2. IGRIE ST H IgFH HE Il 91,
S Y =R A H gl W e
or |

3. U@ e @ zrar & fow y@% =W
FI N g W T FTEAH B o |

4. Yoo e smamd eifem @ afas

g e o |
2 feu U e F v = wd I ghie
(a) 1,234
(b) had 13N 2
(¢) HaA23M 3
d 1,334

fFrefafigs & @ F9-a1 79, Al (ST
¥ 1t $oft) gm gga e w foamn mn
s g 2

(a) VARSI

(b) HrFHEA

(¢) et

d) EEIE

YR § g h A & ar A Frafafea

Wﬁ“ﬁﬁﬂﬁﬁm:

1. g 1 N1 HeE UE g H g |

2. g TAREl VA & ARfuE au A
IT WG | St T4 |

I § | HH-91/HH-A HUF TE B/ 2

(a) ad 1

(b) FHadA 2

(¢) 13K 23Hi

@ JTdL,A&2

137.

138.

(42-A)

qia A dfgdi wasd % mw # fefafea

Higen weEfqueEt o 9% Teayqul geafiEl «

fomm HifS .

1. 1917 %1 ¥WRdW™ afgen -
TEIHEE (A
ez srfie)

2. 1925 WG #
Afeenati 6t s
R (Fa
FEA A6 FEA
3fean)

3. 1910 %1 WG &ft A< VeETs
RS Fard|

IEw ¥ A FH-E/HEE-E W §d gafem

?/2?

(a) 1,233

(b) I 23R 3

(c) “hae 13K 2

d Had 1

gy 9%k WAINeR % AWE A dfua

gmifoes SftE i v sfaffies gt @

* Y ¥ &9 0, YR § figdi s &

mifys guehl % 4 gus Fates ot & g2

% WR # frfafga wori w foem $if

1. .. T % Ifee and gfea it w@m
(afa 3fem fde womde wEifiom)
Ted & Tg fatas ot & ug § o1 |

2. Jfgd WRAE Tfeld o & Jansii &
e (e sfewn fetns o <fied
Fha) 7 gy Fates a & min $i |

3. fygsw 1932 # =g erfufoilm 3
‘Srgal % fou guw faEfEs @ %
Jferepr =t Jr=ran & |

I § ¥ HH-Y HYF TE § 2

(a) e 130K 2

(b) hae 2 3R 3

(¢) haet 13 3

d 1,23M3

AR A4

T St
<yt

Downloaded from www.cclchapter.com



134.

135.

136.

RRAN-A-GAT

Which of the following were features of the | 137,

postal system of India as described by Ibn

Battuta ?

1.  The foot post carries a ringing bell in
one hand.

2. The horse post is called ulug, stationed
at a distance of every four miles.

3. The foot post or dawa has one station at
every four kos of distance.

4.  The foot post is quicker than horse post.

Select the correct answer using the code given

below :

(a) 1,2and 4

(b) 1and 2only

(¢) 2and3only

(d 1,3and4

Which one of the following texts is a

commentary written by Chakrapanidatta | 138,

(11 Century CE from Bengal) on the Sushrut

Samhita ?

(a) Sabdachandrika

(b) Bhanumati

(¢) Nitiratnakara

(d) Lohasarvasava

Consider the following statements about the

arrival of tobacco in India :

i 6 Tobacco plant arrived first in the
Deccan.

2.  Tobacco spread to northern India in the
early years of the seventeenth century.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(c) Bothland2

(d) Neither 1 nor 2

(43-A)

Consider the following Women’s Associations
and their important associates in early

twentieth century India :

1. Women’s Indian
Association of 1917

: Margaret Cousins

2. National Council of : Sarala Devi
Women in India of Chaudhurani
1925

3. Bharat Stree : Lady Meherbai

Mahamandal of 1910 Tata

Which of the above pairs is/are correctly
matched ?

(a) 1,2and 3
(b) 2 and 3 only
(¢) 1land2only
(d) 1lonly

Consider the following statements about the
issue of separate electorate during the
early decades of the twentieth century in
India as a means to secure adequate
the
categories in the absence of universal adult
franchise :
1. The All India Depressed Classes
Association of M.C. Rajah was staunchly
in favour of joint electorate.

2. The All India Depressed Classes Leaders’
Conference demanded separate electorate.

3. The Communal Award in September 1932
recognised the right to separate
electorate for the ‘untouchables’.

representation for deprived social

Which of the statements given above are
correct ?

(a) 1and2only
(b) 2 and 3 only
(¢) 1and 3only
(d 1,2and3
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140.

RRAN-A-GAT

Freaferia § & F-8 o W E 2
L m A w A @ sk o e
i Yot e () & wefr # |

2. i 3wz % T wE wm An 9, S
ofien % fowme &6 ® @ ol I
it ¥ Sirgd 3 |

3. @ uEn ot @ 6 9 Sudlt v @ wew

sferea # 9 3R oW Yggdl A a%
HAd-Fed ® |

4. Wm ¥ Afafew, S wiell, wra ik
Zfuigd ufrn @ s@ o mEE #
SaTsal 36t qEt & e ot |

9 R e g F W@ W= IW g
(a) 1,2 3MR3
(b) 1,334
(© 2,334
@ 1,234

siar e & WR ° F=fafes s w
fermm #ifSm

1. 9gH # Fag H FEa hi & R T
fufya firdh @ <ifta e mn o st @ W
T T A9 TR T A7 |

2. UEd 99 ¥ W9 W TR@ @i+ 1 3R
I 91 IGH TN 1 93T fohar |

I HYAl § ¥ BH-A1/HH-8 T R/F 2
(a) %ad 1

(b) Had 2

(© 1323

@ T2

141.

142.

143.

(44-A)

@R () feamier @ (SKA) i &

ey § frafafea & @ F9-91/a0-8 S

@ R/ 2

1. SKA =U% YHR & Fayls fasm
aed B Fefya FA F fow fava &
qed 9 i Hew wagwia (HfEfea)
e # fmin w7 ot
IeFwe, gag fagm siawrdi gian & |

2. YRd W@HR I W gEg famm
gfES # WRa i 9efigd % fag e

e fean 2 |
= fou 1w e 1 = W IW gHT -
(a) %ad 1
(b) HadA 2
(¢) 13 22Mi
d TaA1L,TIH2

IE A g W iR e 2w & o
T A I R 2 '

(a) 3‘733

(b) TG IE

(c) §gH IS 3a

(d) 3

o M % Teq % daw # F=fafea § @
-1 /BH-H 97 G /8 2
1. ¥Rd §R 3 71 & § of. 3nfag gmfean

# reagar § diclgd foaT T &1 TS
frm 2

9. fam smm =1 T wma & d@faum &
FTede 263 % AR foran Srram B |

#r fqu U FHe w1 FE =W FE IR ghT

(a) ad 1

(b) had 2

(¢) 13 22M

@ JaLad&2
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139. Which of the following statements with regard

140. Consider the following statements about

Ajanta paintings :

11 The surface of the rock was coated with
clay mixed with rice husk and gum and
a coat of lime was applied over this.

2.  The outline drawing was done first on
the lime coating and colours were
added subsequently.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

() Bothland2

(d) Neither 1 nor 2

RRAN-A-GAT (45 -

to the famous ‘silk routes’ are correct ?

1. Silk routes refer to East-bound
European silk cargoes along these
routes.

2. There were several silk routes, over
land and by sea, joining together vast
regions of Asia with Europe and
northern Africa.

3. They are known to have existed since
before the Christian Era and thrived
almost till the fifteenth century.

4, Besides silk, Chinese pottery, textiles
and spices from India and South-east
Asia travelled the same route.

Select the answer using the code given below :
(a) 1,2and3
(b) 1,3and4
(¢) 2,3and4
d 1,2and4

141.

142,

143.

A)

Which of the following statements with regard

to the Square Kilometer Array (SKA) project

is/are correct ? :

1. SKA is a state of the art, mega science
international facility to build the world’s
biggest and most sensitive radio

telescope for addressing a wide variety
of cutting-edge science goals.

2 The Government of India has accorded
its approval for India’s participation in
the international mega science project.

Select the answer using the code given below :

(a) 1lonly

(b) 2 only

(¢c) Bothland?2
(d) Neither 1 nor 2

Exercise Desert Cyclone is a joint military
exercise between India and :

(a) Kuwait

(b) Saudi Arabia

(¢c) United Arab Emirates
(d) Oman

Which of the following statements with regard
to the constitution of Finance Commission
is/are correct ?

1. The Government of India has recently
constituted the Sixteenth Finance
Commission under the Chairmanship of
Dr. Arvind Panagariya.

2. Finance Commission is constituted in
pursuance to Article 263 of the
Constitution of India.

Select the answer using the code given below :

(a) 1lonly

(b) 2 only

(c) Bothland2
(d) Neither 1 nor 2
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145.

146.

RRAN-A-GAT

A 3 AR (JTeIgE) W IHE FAYH &
safa deets fadt whifeesm (wea) & forg
9Rd ¥ i Tmiea wega g # | Frafafea §
T HI-H1 E ITH Y TH 77T R 2

(a) TN

(b) WIS

() I
(d) SYug

frafefaa & & SF-a1/F9-8 S99 qd 2/2 2

1. YRd ¥, 12 9 ® T a1 fegq & &9
T wE SR

2. @t fqawre H @ F TOET &
fore wfia gan feaw wamn wman 2 |

(a) a1

(b) Had 2

(¢) 13 231

@ @ 1,7@2

TETTeg grReald % wey #§ frefafiga s
‘R’ﬁlﬂﬂiﬁﬁ‘l’q:
1. & DRDO & & o iR wqzfas™

AT (NPOL) 1 SHgfas gaa™
qra R |

2. ¥ A H I¥ HEWIR FEUH A fawE
% &7 # fie wgwmrR fw (Rim) 29 %
gy dedwfers Amte @@l Tofa
F@ % fow grr Aft fimmg4 w @
gaT |

I § ¥ BH-A1/PH-A HYA G 2/ 2

(a) ad 1

(b) Had 2

(c) 13 22l

(@ AFar 1,782

147. 29 ¥ s @iy fates s % fawg & gdeom

148.

149.

150.

(46-A)

H 3R 37 W HEfE F0 & foe ywa awn

T Tfea wfufa &1 sreaw Frafafea § & 19

22

(a) HgF T wt ot st wme

(b) WRA % gou AEd A g qwEd
RS

(¢) WA % qd Usgufd #ft a1y Hifag

(d) WA % e Fated g i Tefia FaR

Fatl 2024 H, YA HT BT ATl (hae
wgiai & forq &) A T 1 3gaReA FEl
fema 2

sirarer
=ifea
e
T

(a)
(b)
(c)
(d)

HE 2024 H, WG SR 7 9RG IR fhw 2w
% o9 qh ETTEl STaEdT (FMR) §HIG i
&1 foig form 2 2

HMHER

e
TR
BRI

(a)
(b)
(c)
(d)

frafafaa & @, a7 yra de& (Why Bharat
Matters) 951 % oE@H A & 2

(a) TUWA.%. rSaOft
(b) TH. IR
(c) W& WFTEd

(d) Yo g@si
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144.

Recently the Ministry of Environment, Forest

and Climate Change has submitted three

nominations from India for Wetland City

Accreditation (WCA) under the Ramsar

Convention on Wetlands. Which one among

the following cities is not one among them ?

(a) Indore

(b) Bhopal

(¢) Udaipur

(d) Jodhpur

145. Which of the following statements is/are
correct ?

1.  InIndia, 12" March is celebrated as the
National Youth Day.

2.  National Youth Day is celebrated to
commemorate the birth anniversary of
Swami Vivekananda.

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(c) Bothland2

(d) Neither 1 nor 2

146. Consider the following statements about INS

Sagardhwani :

1. It is an oceanographic research vessel of
Naval Physical and Oceanographic
Laboratory (NPOL) of DRDO.

2.  Recently it embarked on the Sagar
Maitri Mission-4 to establish long-term
scientific partnerships with Indian
Ocean Rim countries in Ocean Research
and Development.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(c) Bothland 2

(d) Neither 1 nor 2

RRAN-A-GAT (47 -

147.

148.

149.

150.

A)

Who among the following is the Chairman of
the  Committee  constituted by the
Gq_vernment of India to examine the issue of
holding simultaneous elections in the country
and to make recommendations thereon ?

(a) Union Home Minister Shri Amit Shah

(b)  Chief Justice of India Shri Dhananjaya
Yeshwant Chandrachud

Former President of India Shri Ram
Nath Kovind

Chief Election Commissioner of India
Shri Rajiv Kumar

(c)

(d)

In January 2024, India’s first all-girls’ Sainik

School was inaugurated at :
(a) Bhopal

(b) Kohima

(¢) Vrindavan

(d) Namsai

In February 2024, Government of India has
decided to scrap the Free Movement Regime

(FMR) between India and :
(a) Myanmar

(b) Bhutan

(c) Bangladesh

(d) Nepal

Who among the following is the author of the

book Why Bharat Matters ?
(a) L.K. Advani

(b) S.Jaishankar

(¢) Mohan Bhagwat

(d) Pranab Mukherjee
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